flux

A? / 0.5607

Ax? / 0.5569

Fe2 + Continuum Fit

2

oy 482 Il<ml/s ——— Ic,_-?z 46? +/— 80krrl1/s —— lemi? /I 4.59.3 = (I).5l607
r() —
N —

e ‘
Y i — vi"ll...ﬂ_. 8
=Xy
o i __.‘sh‘ .‘L"&*’!l"’é"! Lo Ao S, »cﬁ sl “ A
1 1 1 1 I 1 L 1 1 I 1 1 1 1 I L 1 1 1 I 1 1 1 I 1 1 1 1 L_1 1
2500 3000 3500 4000 4500 5000 5500 6000
Rest A (&)
Fe2 Scale Factor X2 Diagnosis
.GV. 48.2 Il<ml/s — O.I()55I>83’>I(1 18) — erninl/ .45?3 = 9'5.60.7
rm804 RMS 8.24 i

: MAD 7.37
o
o — —
o i
o]
e L L | L L L L | L L L L | L L L L | L L

0.06 0.065 0.07 0.075
Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis

_crv 100 .953 priolr 225 krp/s | . —81|4(80) . | . X2min I/ 4593 = O.5607|_
SE rmap4 ] RMS 46.5 -

- MAD 34.4 .
ot _
O — —
N | _
ot i
o — —
. _
ol ]
Sk . "
o 1200

Fe2 Dispersion (km/s)



